SuMPO EPD SUMPORIESNIVTOIS s

SEU'V‘I':’;)D _ — M R A Y AT IR S
\EPD 54T IBHEEE (EPD) FROTABRA 1
VERIFIED KANDA SQUARE GATE
BF#kES © JR-AI-26082E https://ecoleaf-label jp

B/I0EEH
/Monochrome MFD

TASKalfa
MZ8500i(US)

REIRFIXA M-I IRt
/" KYOCERA Document Solutions Inc.

HEHN BEHRES JR-AI-26082E
EFAPCRES  PA-590000-Al-08
8151455 =
PCR%& EIEYNEal E=
B E ST RERPE NGI= 2026%7H 108
WSiRE Ol RIEF REEETEH 2026468240
BRI EELRE - A EEELRY - TRIBERRE WIALAR YATLEREEA
(ER IS E R FE UMV WIEES JV-AI-26082E
WMAIEZNEARE 2031468 23H
HRoBR, TELFK-FEx PCRLEI-DETE
B 1 B/ U0EEH#/Monochrome MFD ZREBZ 20234 98 1H
TASKalfa MZ8500i(US) EER MlF 22
AR :BFEEAR (EP) —MRHEE NP R T TR EHBERAE
FIRIGEE : £/90 : 85 #y4% B=HBIRIE
BEYAX : &K 131YF x 19.21F/SRA3 NEPIREES AHE &2
TEEIR] © X
a¥—/FUY b /AFv Y /FAX(Option) ISO14025(E > AT § RUT - ORI LIARAE
FEEEEFHAH @ AR ORER WAHLER
AT NRIEEB I EEENORIOB AL, YATARI LT BB
LRI,
FLWEDhEE

RESRFIATII1-230 X (#k)
mERIEAED [EFR1E{REE2158 TEL: 06-6764-3764
https://www.kyoceradocumentsolutions.co.jp

Zi&ES ¢ JR-AlI-26082E



SuMPO

EPD

AAAAA

VERIFIED

SuMPO EPD
4T NERBES (EPD)

E5&ES © JR-AlI-26082E

SUMPORIESANILTOIS I
—RRAEIEAY AT T IR EHEEHS
RREFREXAFHET-14-8
KANDA SQUARE GATE
https://ecoleaf-label jp

OF17Y1 7V B R

0% 20%

40%

60%

80% 100%

SUEZ®) IPCC 2013 GWP 100a 2500 | kg-COqeq
7 qe (4 430 | kg-SO:eq
BREE 0.11| kg-Sbeq °
EOFRAHAZE nQLE nQFE nDEA-HEEE nOFEE- YY1/
AR IHH Bify a%F OFREMERE QOfE QitiE |0 #EEE OEE- VS
RURZED kg-CO.eq | 2.5E+03 1.2E+03 1.9E+01 1.9E+02 8.8E+02 2.1E+02
AV EHIE kg-CFC-11eq| 2.1E-04 1.5E-04 3.1E-06 2.4E-09 5.5E-05 5.0E-06
732 (d kg-SO.eq | 4.3E+00 1.1E+00 6.5E-02 4.5E-01 2.4E+00 2.8E-01
HAEFEAFIT I kg-CoHseq | 4.5E-02 3.2E-02 2.6E-04 1.1E-03 1.0E-02 6.9E-04
EREL kg-PO.*eq | 9.5E-02 2.8E-02 5.9E-04 2.0E-09 6.6E-02 1.9E-04
BREE kg-Sheq 1.1E-01 8.6E-02 1.0E-04 8.1E-04 2.8E-02 3.2E-04
B 525
__#H aa BGHAE | K
Eiﬁfﬁ%é;ﬁ 3:7E+02 kg WRERBIGRE : 5%
N @EEERKRE : /70 : 1,075,200
BAERRIRIY- 3.1E+03 M) )
Q@E‘GRENERE (EIRIFK) OBFEE LELTVEEA,
3 % 2 (- R 3 2,42 CBEEECAVAYTUACBVGEE LR SR
MR- ME (ERES) s P BB \Tuy%;wﬁé\ff% (EPA )
3m 7 9E+01 kg {ERIRINF-RT-T0I I LVer3 2% @A
SuUS 2 3E400 kg CHFEMERQARKE ER[CEMTTHALRFTEEA
Cu 326400 kg EXSINEEEA - HRHIEERRICET LINET,
Al 2.2E+00 kg
EREA 2R 5.2E+01 kg
AR MRS 5.8E-01 kg
= 2.2E-01 kg
® 2.0E+01 kg
FEFEMR 5.0E+00 kg
FEIE-4 5.4E+00 kg
n IR 7.5E+00 kg
At 1.6E+01 kg
ZOftES - BT 1.1E-01 kg




SuMPO EPD SUMPOBRIESANITOI T A

SEuMI':’;’D _ —HRAL R A Y AT IR HEE S
N .. AAAAA SAFNBEBEEE (EPD) HERETFREXARET-14-8
VERIFIED KANDA SQUARE GATE
BF#kES © JR-AI-26082E https://ecoleaf-label jp

CERBRIRNF-AF-TOIILEEGEELTVNET,
-ISO14001 R EEB TIH TEELTNET,
HNEAN-OTIAFYIINDT Y R E#RFEFERLTVE A,

DERLEZRT-IDEXS

FREIIZIDEA ver3.1.0 R U'SUMPOEBIESAI FOJS L& T -Iv1.16&EBLTVNET,

®fF%E

@7 -FHEDAEIE PCRELUVETE - EERBEESRBL TSI,
OLLRIIDOVNTE, BE - EEREBICREINLZREFEHLLLIGEILYRHONEEA.
(ZH%URL ! https://ecoleaf-label jp/regulation/)
E#xES © JR-AI-26082E



